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7006
7006 |
i in the evolution of the marketi i
(a)  Explain the role of marketing as ap instrument of economic (b) Explain ng concept giving
| examples. 7
development in a developing country like India 8

(arr)wriﬁmamaw B T B fow W
»Wwaﬁwﬁ%?wmﬁﬁm

(b)  “Marketing mix framework of 4 P’s is applicable to tangible

products only and not to services.” Justify the statément foor fofg a A WTF@JE’TH Eﬁh Sfefh
AR % HE Hl GESEY |
by explaining the marketing mix for services with a suitable
| () fawm sauren & fawm w5 = I
example. 7
d 'Q HIfST |

() W@ ¥ frwwdtw W A onfw fww s,

(@  Explain the significance of product positioning. Discuss
Y & ®9 § fauvm ® ’ﬂ-ﬁ?ﬂ T HIE any five bases of product positioning for different brands
: . of i o
(F) 4 p's & foaqum fasor TEl RdAd ‘Eﬁ IR } Car.s In India; 8
] . JE— ) What is consumer buying behaviour ? Briefly explain the
RN W T T Tl ST I - buying decision process of an Indian middle class family
® g Qo & fau fagom fago Eillial for the purchase of an apartn"]ent in the NCR region. 7
A T T W W W o T W Rt b e w v i

' TR i IS % fau sar ferf
Or/RAIAT 3 o
understand

(@ Why does a marketing manager need to

. . e Of the
marketing environment ? Explain the importanc

prudent - A wfar g

8

. . : 1 g
demographic and economic environment in taki?

strategic marketing decisions. P.TO.
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Or/3AAT (@ “The most impcrtant factor in successful new product

(@ What do you understand by psychographic ang development is matching the product and market needs.”
behavioural market segmentation ? Suggest suitable bases Discuss the statement with respect to the process of

to segment the market for the following products giving developing a new product. 8

reasons : (b))  What is pricing ? Explain the fbllowing giving examples : ‘
(1) Business Magazine . . .. . . 5

() Differential Pricing and Product Line Pricing
(if) Luxury Cars

(#)  Psychological Pricing and Competitive Pricing
(iii) Formal men’s wear 8

(¢if) Cash discount and Trade discount 7

(1) “whet T SR faww § ged weEqd wRw
SR SR SR wed @ e 31 T
T IR # fywfed @ w1 A @
WY ¥ 5w oy w1 e R

(%) e Freieor s & Freferfian 91 dree =T

() What do you understand by branding ? Discuss its
significance, What are the desirable qualities of a good

brand ? 7

(1) TeTfs iR aEreaE SR fawed @
3R T AYYE §? RO wa gu fefared
SRl & far SR w sugE s R %

STIR YR GIEd Hify

() =R ufrE | O %% ge fruior s e @R TEd

() FEM FR | et
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(@) "IHT AR TG A A dw @ o

Wmm%mﬁmmwﬁgm
fasror &t fod=m @R

Or/_AIdl

(a)  Suggest appropriate marketing strategies for each stage of

the product life cycle of a product. 8

(b) Discuss various factors that a consumer goods marketing

firm needs to consider while setting a price. 7 Or/Aqdr
(37) fadfl 3] & SR Sed W% B ToAw W . o :
(@)  Discuss the role of personal selling in promoting products.
% fou Suge faqum i @ gema it ,
: : What advantages personal selling offers over
(@) & fafy= wrel ) ==t SR % ™ s :
T oo wd s feifa w@ = advertising ? 8
feR & &1 TEvgsa Bl ©) (®)  Explain the following giving examples :
(a)  Briefly explain the various elements of promotion mix. A
. () .Departmental stores and discount stores
start-up wants to introduce its detergent powder in the .
market, giving reasons suggest an appropriate promotion (i) Mail order retailing and Vending machine 7

TMiX. ' 8

) T R w23 % forg s R @

(b)  “Rural markets are expanding very fast.”

I W PR ¥ sfew s @
Discuss the marketing mix of rural markets in light of the
above statement, -

(1) wfrglg fasm & fafis ol &1 Gfaa e
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( 8 )
Write ghort _notes on any three \"7) XS = 1_ ?g'
~(z) Ethical practices in mark'et‘ing
(i) Elements of marketing logistics .
(7ii) Relationship fnarketing (giving: examples)
(iv)’ Classification of consumer products.

o ~
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I '
(@  How can you incorporate risk in capital budgeting-

decisions ?
4
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(b A company i ideri
e s woperimte o @ b1 e e o0 1 7 e
e e S(l)lr:s at a cost of ¥ 2,00,000. YE-IF T W T W @ ® R W
depreciated on a straight-lin; (:)0- .These outlays will be W : fpar S S fF s 9 @ o
which will also be its salva eas‘sl to zero book value 31?{ H 3HhT ﬁm ? T B B T yomeht
life of 5 years. The newg value at. the em.i of its # @ Freg a1, T 40,000 TRT =R i
Comut o . system w.1ll require two ¥q wfed sTevgwar eritl gw ot AN &
puter specialists with annual salaries of ¥ 40,000 & aiftfes W@-T@E @9 T 12,000 g FE B
per person. It is also estimated that annual maintenance % yoTelt | Saed # wH FA fawd it
expenses of ¥ 12,000 will have to be incurred. The new 9d T 20,000 @Tﬁl g;q-@; ufg o9 Z 25,000 i
system will lead to reduced production delays, thus AR g ¥ §91 H Wt mee fgort . wug
saving ¥ 20,000 annually. It will also help to avoid stock ¢ oW fafem @ wfg 9d < 8,000 T qff; et 7
out cost of Z 25,000 per year. Timely billing will increase | 20,000 S 0 9H T B: fafyew wHErd
inflow by ¥ 8,000 per year. Six clerical employees, with | #t frds gT S | FHAT HT HT FI T 30%
_annual salaries of ¥ 20,000 each, will also become ‘~ g AR wom T 12% 1 iS5 QER’JIE'-F{
redundant. The company’s tax rate is 30% and required HINT | et faofa =0 B afe frearor T
rate of return is 12%. Evaluate ‘the project. w & E@W ED fT’I'Q % 30,000 foram wimen
What will be your decision if salvage value is taken %, TfE 5 96 B wE weie RRICE T
as ¥ 30,000 for purpose of calculating depreciation, even d SIER = | ﬁTQ"ﬁl
though the machine will be worthless in terms of resale | Or/(37<)
value after 5 years ? 11 (a) Critically evaluate the payback method for evalua.tio,,
(1) wm e o Fofl § Sifem = EINIES ' of long term projects. 4
SR : (6)  Able Electronics is considering a proposal to replace
(F) TF ST 2 2,00,000 B ARE W G GET AN a machine which was bought three years ago for

. . . ?
fafem gfwparsdl & wrgele W foar *X 10,00,000. It has a remaining life of 5 years after which

it wi
ill have no salvage value. But if it is sold now

P.TO.
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aﬁsﬂmﬁ?ﬁ?aoo,oooﬁaﬂmm

: IaeHa | et e

to increase by ¥ 50,000 p.a. from the sixth year of its ' IS Tig e d qﬁg it

. . , , o ufy e 7 1,50,000 ® G A T

installation. A new, more efficient machine is available . ' =
ofrere =@ § ot wfa = T 1,00,000 HH

2t et F W s0% ¥ q ot F AT

it will realize ¥ 6,00,00(_). Its maintenance cost is expected

* for ¥ 15,00,000. This machine can be sold for % 6,00,000

after completing its life of 5 years. This new machine j 0% &1 T L RER] HT et Xar fafy =1 39N
will lead to increased productivity, thereby increasing ‘ ;g{gT T wfaeem= % R ﬁ FET ® FWAR
the revenue by ¥ 1,50,000 p.a. It will also reduce | a’-]ﬁ-w'

operating expenses by ¥ 1,00,000 p.a. The company's \ If =|'§ ST = sTafya fR=aror T T 2,00,000
tax rate is 50% and cost of capital is 10%. It uses ; 2 @ U oty 1 BT ?

straight line method of depreciation. Advise the company
2. (@) What do you understand by. Agency problem ? How

about the replacement.
can it be resolved ? : 4

What will ision i ted sal 1 ‘ : : : ;
vikibssjeur ceaionsit e EXPectsE Falvags Vatie | (b) Prepare the income statements from the given financial

of the. new .machine is T 280,000 7 K \ data for Company A and Company B for the year ended
(37) Srefefers @SS & W % fod -5 ‘ 31st March 2017. Also comment on their financial

TS W STeARHs  HeAh it | position. o 11
(9) Tad SoERe T Tt e H TR H ‘ Particulars Company A | Company B

Ty W faear s W § ?ﬂ';-;rﬁ K Variable expenses as % of sales 66.7 75

: T o1 SEE Ste 5 .

Z 10,00,000 & EeRis - Interest (in Rupees) 2,00,000 3,00,000

T4 ¥ foms W TEH w5 R A

o A & S} A= T A 2 6,00,000 3 o Degree of operating leverage 5 6

AT | gEeh! Tl P BS T8 Y TGHI W-T@EF Degree of financial leverage 3 4

H AT =k ¢ 50,000 Ed| qﬁ; E‘ﬁ Cal Eﬂﬂ?«' %l Income tax rate 7 035 035

7 15,00,000 3 TH T A IS AL STA () TR F gHen ¥ o9 ¥ oW ¥ 2 =@

25 ad B o SoTem w1 @ A F 4 Q' P w1 we@ ® 2
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(F) 31 9™, 2017 w GHIQ 98 & fAU wEE oA
M w7t B & ¥ T foxilm oniwsl ¥ o
faamm @R wifsu = g fafd = o

feooft =ifsw)

e HA A | A B
o = T % 66.7 75
== R H) 2,00,000 3,00,000
TiEeE dfteRs wt A 5 6
fodia <frete =t @ 3 4
HAERT I 035 035

Or/(3144N)
(@) “A rupée of today is not equal to a rupee of tomorrow.”
Explain. 4

(b)  Calculate the overall cost of capital of Sushant Ltd. from

the information given below using book value weights

and market value weights :

Equity Shares of ¥ 10 each
12% Preference Shares of ¥

100 each

11

Book Value Market Value

®
4,00,000

1,00,000

(Redeemable at par after 10 years)

11% Debentures of T 100 each

2,50,000

(Redeemable at par after 5 years)

Reserves

1,00,000

®)
6,40,000

75,000

2,25,000

«( 7 ) . 7007

Last year the company paid a dividend of ¥ 2.20 per
share. It is expected to declare a dividend of ¥ 2.42
per share. The company has been maintaining the
growth rate in dividends over the years and is expected

to do so in future. Tax rate is 40%.

(37) "3 H TF TG FA B TEH TIH H OSHER
T R = wifeul

() @@ qed ¥R 3R 99K ged 9 H SYIR
W g M A T S ¥ gemw fa w1
ISt ®1 HA AN Bl TOAT FHIFAW

T e 6N - 0o

®) )

THEA IR TEAF T 10 4,00,000 6,40,000
12% SAEHE AW 2 100 T=HF 100,000 75,000
(10 99 9% T W

wfea)
11% fes==d 7 100 9= 2,50,000 2,25,000

(5 T8 9] T W

ftrea)
IRfara fafy 100000  —

fret ad w7 220 WA YR R wmeiw
F1 YA fea g1 a8 smwm ¥ fF owfa 9
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Discuss the different approaches to ﬁnanciﬁg of working
capital. 4
From the following information estimated by Swastik Ltd

for the next year, calculate the working capital required

on cash cost basis :

4
Sales (at gross profit of 20%) 27,00,000
Raw material | 6,75,000
Wages | 5;40,000
Manufacturing Expenses 6utstanding
at the end of the year 60,000
Total Administrative Expenses 1,80,000
Total Selling Expenses 90,000
Desired cash balance 1,00,000

Finished goods and raw material are kept in stock to
meet 1 month's requirement. The company gives a credit
of 2 months to its customers and gets a credit of
2 months from its suppliers. Wages are paid with a
time lag of 15 days. All other expenses are paid with

a time lag of 1 month. There is no work in progress.

(31)

()

(9 ) | 7007

The company includes depreciation in its cost of
production. Finished goods are valued at manufacturing
cost. A safety margin of 15% is to be maintained. 11

FEvie ¢t & fam oo & fafy= adel #i
fordmmr wifS@ |
a8 @ fau wfew fa g sERT
= MR &, THS AT ® SUR W SETIH
Frivier ot ® o w

z
frFa (0% F TFA AW W) 27,00,000
F=1 TS | ' 6,75,000
T 540,000
T8 % 3@ # fmiol = 60,000
FA TR S 1,80,000
T fawa @@= 90,000
e Twe 9w 1,00,000

TR T R we A W = § 1 men
H IFEAYTRT B YW wH B
TR A TEw W 2 W
T R o emyffwdiet @ 2 wER
WK FA T ASGH i

i
:
1399

T W YRS B ¥ 15% B gRen wids
T @ R
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Or (A4
(a)  What are the different motives of holding cash 7 4

() A company manufactures 1,00,000 units of a product
annually from a raw material which is purchased at
¥ 60 per kg It incurs a handling cost of Z 200 and
freight of T 550 per order. The inventory carrying cost
of the raw material is 7 0.75 per kg per month. In
addition, cost of working capital finance on the
nvestment in inventory is Z 6 per kg per annum. One
kg of the raw material can produce 2.5 units of the
product. Calculate :

(i) Economic Order Quantity
(if) Frequency of ordering

(ii) If the company wants to place orders on quarterly
basis, what percentage of discount on the price

of raw material should be negotiated ? 11

(F) TF FEA T2 HA B FEA 1,00,000 32 9R
T Z 58 7 60 90 fEen = femm B =m

= % zaEt Fvefem = 7 200 A9 fA FRw
‘;77.;77550%3 ﬁqﬁﬂﬁﬁmw

7 075 3 fFen fEm % R gem A

% o w owHTA dH fam # A 7 6

(a)

(b)

( 11 ) 7007

yfa feen aifds &1 = fFal F=1 99 3O

F1 2.5 TEEA F OIARA FI THFA T

MO IS

() ofdE RS #En

(i) QY oA & A

(i) A FHAT Tt U W SRy o e
T A w= W # $Md W fFad wiavd
W W FaEd H AHAT =ifew ?

What are the different approaches to calculation of cost
of equity ? 4

A company needs to raise ¥ 10,00,000 for a new project
which is expected to yield an annual EBIT of ¥ 1,60,000.

- It is considering a possibility of issuing equity shares

along with some amount of debt. It has an option of
raising a debt of ¥ 1,00,000, % 4,00,000 or 6,00,000.

Debt is available to the company at the rates indicated
below :

Upto % 1,00,000 8%
Over % 1,00,000 and Upto ¥ 5,00,000 - 12%
Over T 5,00,000 ' 18%

Current market price of its equity share is ¥ 25 which
is expected to drop to ¥ 20 if funds are borrowed in
excess of ¥ 5,00,000. Tax rate for the company is 50%.
Suggest the best financing alternative. Also calculate

financial break even point for all the three options. 11

PTO.
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(1) e =t @ w o % fau fafe gfesy

of ¥ 2,00,000 carrying an interest of 12%, whereas X
g ?

is an all equity firm. Both companies earn a return of

() TH FEA W TH g WA w12 16,00,000 20% on their assets of ¥ 4,50,000.
T ® wE@ © R afE EBIT 2 1,60,000
e ® IR T T8 w/S WO AW F Wy

() Calculate the value of both the companies and

their overall cost of capital under the net income
st IR A W FE H GWET W faER approach taking cost of equity as 15%.
W %‘ Wﬁ ¥ 1,00,000, ¥ 4,00,000 AT X 6,00,000 (i) Calculate value of both the companies and equity
O TG W TH faemed EA L U e capitalization rate using NOI approach taking
R HEE B WO IUAH § overall cost of capital as 15%.
T 1,00,000 TR S 8% (i) Compare the results and comment on the
% 1,00000 § 3M® qA T 500,000 T : - 12% differences. 11
% 500,000 9§ Afuew : 18% |

(31) ot weam Fof & aR § S99 wReews @)

& Ed W F TEHE SR HEd T 25§ fog w0 % fow MM sTvm gR1 T SRR

X fF 7 500000 ¥ s F T W A W Ao e wmr ¥ 2

W32 20 9% Y = S &1 FF & W (H)Wﬁxaﬁ?mﬁyw‘éiﬁf@maﬁﬁ%
F T 50% ¥ TN ot famam frwes e ﬁivﬁﬁmﬁﬁwﬁﬁmmﬁy
g & 9 et & fou o dge-wR g ¥ 2,00,000 S N TN WA ¥, TW W 129
(- fog) &t o TR wifST)

=S foer @ Wefe x T Wt e

€1 B w2 450,000 WA T 200
(@ What behavioral justification is given by the MM F WY HEE T

Or/(37A)

approach to prove their hypothesis about the capital

D 15% % ¥9 ¥ A # a9 DF g
S 9 gfesior & @8d 3F iy @

T R TRt ISt 1 wHy o oy
and identical in all respects except that Y uses debt R |

4
structure decision ?

() Company X and Company Y are in the same risk class

P.T.O.
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(i) 15% % ®9 H F&@ A@ A qI NOI e
H IWEN FE AW FECE B T AR
et Sl W W T it
Giif) IROTH B} TE BT, q9q HAdQ W oo
IS |
(@) What do you mean by informational content of

dividend ? 4

(b) The following information for the current year about
XYZ 1td. is available to you :

Eamings of the Firm T 18,00,000
No. of equity shares 3,00,000
Amount of dividend paid ¥ 9,00,000
Return on Investment 22.5%
Cost of Equity 15%

() Calculate the present price of the share and value
of the firm using Walter's Model.

(i) Is this the optimum payout ratio ? If not, what
is the optimum payout ratio ? What is the value
of the firm at this payout ratio ?

(iil) What is the payout ratio at which value of the
firm will be lowest ?

(iv) What should be the payout ratio if the firm wants
to keep its share price at ¥ 55 ?

(V) When will the firm be indifferent about payment
of dividend ? 1

¢ 15) 7007

(37) TN F GEAHR GO @ STIHT N Sy
g 2 |

(F) xyzfa & IR d ad9m (I ad # e
= SFer’t Sy ¥

FH H Y _ Z 18,00,000
IS 99 W gem 3,00,000
T A H A 7 9,00,000
fraer e 22.5%
st = @ 15%

() TR B AR B TET wE YW R
aﬁqﬂmﬁf{w?ﬁ{@ﬁm
- wifeT
() FM g FH P ST ¥ 2 AR A,
W FAH PAF ST T Y 2 T e
S H wH ® ey | ¥ 2
(i) TE YR STUW T ¥ fE W wd @
T G99 ®H e ?
(v) A wH g TR TTF T 55 WA wEdt
T @ ymm egum w e =ifkw 2

(V) T H graE B IR F B e e
B 2

P.T.O.
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(@)

( 16 ) 7007
Or/(314a)

Discuss the determinants of the dividend policy of a

~ company. 4

(b)

(1)

(¥)

Relay International belongs to the risk class for which
the appropriat_e capitalizéﬁon rate is 10%. It currently
has 1,00,000 equity shares of ¥ 80 each. It is thinking
of déclaring a dividend of T 4 -per share at the end

of the year. It is expecting a net income of ¥ 8 lakh

"and an investment proposal requiring an investment of

% 15 lakh. Show that under MM assumptions payment -
of d1v1dend does not affect the value of the ﬁrm now

and after the 1ssue of new shares. 11

mmﬁﬁww%%ﬁaﬁ%ﬁﬁa’ﬂm
i | |

ﬁamwsﬁr@naﬁ ¥ wafm & R
’r%rqsqgaagsﬁwamo%%laﬁqﬁﬁm
€ % 80 T 1,00,000 I VR T I o
® 3 A W VR T4 oW Sreom
FE H W W )T 8,00,000 F LS A

-ﬂﬁwa‘aﬂ_ré%aﬂt@ﬁamwﬁ

s @@ FEw w8 emavmwar ¥ e
% MM TSl % qed, SwiM w1 g oW
R TR B W D oaw w D g
o gl TR e ¥

16 8,400
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Attempt all questions. All questions carfy equal marks.
Use of simple calculator is allowed. Workings form part

of your answer. '

|t gl F S AT weft v R s owme ¥
W AN H ST A= ¥ FE Aem Iw
1 fewm 2

L. (@ () What is meant by management accounting ?

Discuss. its objectives.

(i) Explain the distinction between cost control and

“cost reduction. ' 6

P.TO.
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(d)  Attempt the following (working notes should form part

of the answer) :

() Total fixed cost X 12,000; Contribution 3 20,000;
Number of units sold 10,000; Variable cost'is 60%

of sales. Determine selling price per unit and also

the total profits/loss.

(if) Total fixed cost ¥ 12,000. Actual sales ¥ 48,000;
Margin of safety ¥ 8,000. Determine P/V ratio.
(fii) A company which has a margin of safety of

% 4 lakhs makes a profit of ¥ 80,000. Its fixed cost

is ¥ 5 lakhs. Find the break-even sales

volume. . 9
(31) () VT oREiH ¥ w1 fuE ¥ 2 su e
w1 foe=m wifsT
G) @ fEFe SR @ra # wH % AH
iR WA |
(w) Frfafed # & FE (FR Fg@ S F
femm ¥) :

(¢ w@ FeR @@ % 12,000, IR 2 20,000;
< T THIEA B @A 10,0005 NIECREIR]
AT faE 1 60% &1 wft TR foRd T
o wmA @/at wm i I |

(@

®

( 3 ) 7012

() ®a Tea @rm@ z 12,000, arafas faswt
T 48,000, Y& T T 8,0001 P/V UM
fruifa =ifsa)

Gi) T Ft fget wer o 74 a@
% 80,000 KT TH FANT g1 ITh! R &FT

35 W@ ¥ gged-&r fawt men g
HifT |

Or/(3aN)
What is meant by margin of safety and angle of
incidence ? Show these on a break-even chart. 6
There are two factories under the same management.
It is desired to merge these two factories. The following
information is avai'lable :
Factory A | Factory B

Capacity operation 100% 60%
Sales T 300 lakhs % 120 lakhs
Variable Cost T 220 lakhs ¥ 90 lakhs
Fixed Cost T 40 lakhs T 20 lakhs
Calculate .
() The capacity of the merged plant for the purpose

of breaking-even and
" ::cli)t:ﬁt on working at 75% of the merged

9

PTO.
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() e dw q @ A B F F;@n afmm ¥ 2

()

(@

(b)

W EEE-TR AR W ewiEml
& & Y9 & JHH A HREW &1 T N

FREE w1 faca s wifsa 1 F=fafeq
W IO ¥

GEHAl A RRYEHET B

eHa e 100% 60%
famt - - 3 300 TE T 120 9
gfadda A 3 220 9@ 3 90 T
feox <@ 2 40 ATE T 20 A
oA SIS

@® IR ® Rw@ & fou e R
T4 . Y, &

Gy Toom B EE H 75% T M FEA T A
Compared with absorption costing, when will variable
costing report lower profits, higher profits and equal
profits. Explain with examples. 5
The following are the estimated sales of X Company
for eight months ending 30-10-2018 :

April 2018 o 12,000 units
- May 2018 — 13,000 units
its

June 2018 = 9,009 uni
its

July 2018 e ' 8,000 un '
August 2018 — 10,000 units
" September 2018 — 7 12,000 units
October 2018 — - 14,000 units
its

November 2018 — 12,000 unt

( 5 ) 012

As a matter of policy, the company maintains the closing
balance of finished goods and raw materials asi
follows :
(1) ~Finished goods—closing stock of a month will be
50% of the estimated sales for the next months.
(i) Raw material—closing stock of a month will be
equal to estimated consumption for the next month.
Each unit of production consumes 2 kg of raw material

costing ¥ 6 per kg. Prepare the following budgets for
the half year ending 30-09-2018 :

() Production .budget (month-wise in units).

(if) Raw material purchase budget (month-wise in units

and cost). 10

(37) EYNY WP B WY ge §, ®@ gREdE

WA HH oY, 3=d oY 3R §HH A &I
fqe «w0i . ? e gfed @ Hifsg

() 30-10-2018 H TG B IA NS WEH B fow

xwﬁﬁwﬁaﬁﬁﬁwﬁf&a%

IS 2018 = 12,000 SHTSAT
w$ 2018 — 13,000 STZAT
S[ 2018 — 9,000 ZHIZAT

TS 2018 = 8,000 SHTTAT

ST 2018 - 10,000 ZHTSIT
e 2018 — 12,000 Srgal
HF 2018 - 14,000 SFT3at
TR 2018 — 12,000 TSt

P.TO.
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M P T F o H FE R A ik
F UG ® WA SO # T UHER S
RSCRI S
() TR WE-TH WA w1 Ehe s wee
% fou sgmf@ faswt &1 sow @em
(i) o HIA—TUEH HEM 1 @i v wEN
% fou sAfE @W $ wwR @
SEEA H AEE TR A 2 fhdum #= W
# TUa o ¥ fwe arm 2 6 i feelm
¥ 30-09-2018 H AW BN qA MY T H

fou frefafea s @R ®ifsT
() SR 9 (SHEA H WEMT & IFER)

(i) HeA U@ TR w9 (3HEA IR NG

§ WM & STER) |
Or/(m)

(@)  “‘Flexible budgets are more realistic and useful than fixed

budgets.” Do you agree ? Explain.

C 7)) 7012

A co. can produce 4,000 units of a product at 100%

capacity. The following information is available from its

records :

’ April May
Units produced 2,800 3,600

4 4

Power 1,800 2,000
Repairs and maintenance\ 500 560
Indirect -labour 700 900
.Consumable stores 1,400 1,800
Inspector 200 240
Depreciation 1,400 1,400
Salaries 1,000 1,000

Direct material cost per unit is ¥ 1 and direct wages
per hour is ¥ 4. Rate of production per hour is 10 units.
Prepare the flexible budget for production at 100%, 80%

and 60% capacity levels showing variable; fixed and

semi-variable items. 10

u.a._a':'ﬁ 52 ﬁﬂfﬁaw q fern qgﬂm
s S @y §" 0 S e § 2 e
HSQ |

P.TO.
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(a)qmmﬁm%qu@mﬁwoo

(a)

mwmmm%lmm
A S ey ¥ .

S
T HOIART fRm 2800 3,600

3 3
wifer | 1,800 2,000
WD SR WE-T@E s 560
A 9 700 %0
U WER 1,400 1,800
TR 200 24
HoaRH 1,400 1,400
ELE| 1000 1000

Hﬁﬁémammm%eﬁr{qﬁr

e Ty Wl < 4 %) 9 v saes &t
10 THR R 100%, 80% W 60% erl TR

R ST & o oefen awe wfad, feR
T - W W e gy dew R

Briefly describe the following Control Ratios : 2
) Activity Ratio

(i) Capacity Ratio

(#iv) Efficiency Ratio

() Calendar Ratio.

C9) 02

From the following information abouyt sales,

calculate : 10

o

() Total Sales Value Variance
(i) Sales Price Variance
(i) Sales Volume Variance
(iv) Sales Mix Variance
(v) Sales Quantity Variance
Standard _ Actual

Units  Rate Units Rate

4 4
Product A 5000 5 LU
Product B 4000 6 20U 5
Product C 3000 7 400 8

() Prefafen from omad &1 @89 § o

EdIEIY
() Tiafafy  sgem
(@) &HaT AU
(i) A U
(v) ST UM |
PTO.
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() ﬁaﬁ%aﬁﬁﬁwwgmw‘
0 w/A fowt g firs '
() Tot whwa e
(113 IEER] iy or=an
vy fost fagor P
v TRt 5o fr=a
| AR EUSIECT
- ¢ o
4 4
3R A 5000 5 6000 6
SRS B 4000 6 5000 5
AR C 3000 7 4000 8
Or/(3AAA)

(@)

(b)

( 10 )

What is standard costing ? Distinguish between standard

. costing and budgetary control. 5

Standard hours for producing two products A and B
are 15 hours and 20 hours per unit respectively. Both
products require identical type of labour and the
standard wage rate is ¥ 5 per hour. In a year 10,000
units of A and 15,000 units of B were produced. The
total labour hours actually worked were 4,50,500 and
actual wage bill came to ¥ 23,00,000. This included 12,000
hours paid for at ¥ 7 per hour and 9,400 hours paid
for @ ¥ 7.50 per hour, the balance having been paid
at T 5 per hour. Compute Labour Cost Variance, Labour

Rate Variance and Labour Efficiency Variance. 5

©

(1)

(=)

(¥)

C 1) 7012

From the following information, compute Fixed Overhead
Cost variance, Expenditure Variance and Volume Variance.
Normal capacity is 5000 hours, Budgeted fixed overhead
rate is ¥ 10 per standard hour. Actual level of capacity
utilized is 4,400 standard hours. Actual fixed overheads
T 52,000. Also,: verify your result. 5
TS @U@ @ ¥ 2 WEe ard e S
fasm # s sanul

A IOE A R BB @A & fau AMeE we
FUW: 15 T2 SR 20 WS U SHE T Al SARI
# TR YFR ® HA H @¥IHA el T
AR HE weRH W % 5 U Wer ¥ WH W
¥ A I 10,000 3R B I 15,000 SHIFAT I IR
fear TN e # FW & A A HH
TS 4,50,500 & AR arafasw wegy o 2 23,00,000
A 9T TEH 7 fa "e & fem™ ¥ 12,000
e W M 3R 9,400 " W YTAH I 7.50
Hfq = 9w N H PEH 2 5 A " & frwE
q foFan o om v B, smoeR e
qqr oM swal e &t gfeom ST
frfafeg sHEd ¥ emfad Iufemma =,
Iuftera fi=ar awn g f=a =6t o SHifsa )
GG &l 5,000 € €, se Sraftad SuRertd
T 7 10 Wi THE He ¥1 W H WM Sl SEa
F1 qrEfa® W 4,400 HAE " T arEfas®
aqfadt Suftera 7 52,000 €1 9@ wfoma it
Hfaa e
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The following particulars are extracted from the records of a

company :
Parﬁcu!ars Product A Product B
Sales (per unit) T 100 T 120
Consumption of material 2 kg 3 kg
Material Cost T 10 T IS
Direct wage cost | RIS 2 10
Direct expenses L. R 6
Machine hours used 3 Hours 2 Hours
Overhead expenses :
Fixed XS T 10
Variable 3 15 T 20

Direct wage rate per hour is T 5.

(@) Comment on the profitability of each product (Both use

the same raw material) when :

7012

frefafen foow fedt wwr @ Rerd @ fe

g T
faaor IS A 3¢ B
fasmt (wfa 3te) 2100 2120
QI T ST 2 fwm 3fem
qraat Yt AT 210 215
Y& HEGU ARt 215 z10
JAY A 35 26
T foRd T AeiE e 38 2%
U
fer 35 210
giEdeia 215 320

YEY WO W T s U EE R
(31) Y% IO ® ayed W feoofl wifsw w9

(b)

(/) Total sales potential in units is limited
(i) Total sales potential in value is limited

(iijy Raw material is in short supply; and

(iv) Production capacity (in terms of machine hours) -

is the limiting factor.

Assuming raw material as the key-factor, availability of
which is 10,000 kg and maximum sales potential of each
product being 3,500 units, find the product mix which

will yield the maximum profit. 15

(A TH @ FR A H OITAT F
?)

0] wﬁﬁwﬁﬁmﬁﬁa%l

G g F wa fawt ema @@ R

(i) F=a W A Y H ¥, @

(v) ST gl (WA W @ wed #) Wi
FRE

PTO.
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(F) F=2 W A} T FE F A wR gy,

(@)

(&)

ot syas@ 10,000 fFm ® ok v @R

F ffuwam fawt & 3,500 391 ¥, 39 s

fason 1 3 wifwe St sifusan @y w5
Or (379d)

What do you mean by relevant costs and irrelevant

cost in decision-making ? Give examples. 5

X Ltd. annually manufactures 10,000 units of a product
at a cost of X 4 per unit and sells these in the home
market at a selling price of  4.25 per unit. In the next
year, there is fall in demand in home market which can
absorb 10,000 units only at price of ¥ 3.72 per unit.
The total cost of 10,000 units is as follows :

Materials % 15,000
Wages < 11,000
Fixed overhead T 8,000
Variable overhead T 6.000

The foreign market is explored and it is found that this
market can consume 20,000 units of the product at a
price of ¥ 3.55 per unit. (Assume that the company
has sufficient plant capacity to produce additional
output). It is also discovered that fixed overheads will
increase by 10% for additional output above initial
output of 10,000 units. Is it worthwhile to try to capture

the foreign market ? Give reasons. 10

( 15 ) 7012

(z) fofga & yrfe @@ iR st e @

(%)

SMUHl T OFRE ¥ 7 SEEW QST

x fa. g 2 4 9fd 3FR # AT W TH
AT F 10,000 IHEAT AR ® AR W TSR
A 7 425 9fa 3 B fopl 9o W a=d B
A o8 #, W] 9wR F AW F fimEe ¥
N 10,000 HEEA W DA T 3.72 WA THEE HI
HITd W SFENHT FT FHAT €1 10,000 THEA
# HA AE I OTER T

qrft % 15,000
SR T 11,000
fe 3ufteg % 8,000

sfadta 3ufteg T 6,000

TRt IeR 1 @ W T R 9w g

™ fF5 aw deR R T 7 355 w1 e
TSR R 20,000 THFE FTIGNT F gEHAr

® (A i fof oot & we afafied saes

m%mmm_m%nagaﬁw
W%ﬁm,om?ﬁﬁﬁ?ﬁ%mmm%

aﬁaﬁﬁ'ﬁm%mmwm%
BICEE I FRO FHifsg
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Prepare a cash budget for four months ending on 31st

December, 2018 on the basis of the following information -

(1) Income and expenditure forecasts :

Months Sales | Purchases | Wages | Other Expenses
4 4 T 4
July 60,000‘ 40,000 8,000 9,000
August 90,000 60,000 10,500 8,850
September | 75,000 50,000 17,500 8,000 |
October 90,000 | 60,000 1'),100 7,850
November | 1,05,000 | 70,000 12,000 7,300
December | 1,20,000 80,000 12,000 7,050

(@ Cash balance on st September T 47,000.

() It is expected that 50% of the sales will be in cash
;\nd 25% of the purchases will be made on credit.

(4)  75% of the credit sales is realized one month after the

sales, 20% of the credit sales is realized two months

after the sales and the balance is bad debt.

©)

©
@

®

©

10)

Q)

(12)

( 17 ) 7012

70% of the credit purchases is paid after one month

-

and remaining 30% is paid after two months of purchase.
Wages are paid on 3rd day of every month.
Other expenses include a depreciation of ¥ 2,000 p.m.

Commission @ 5% on the total sales payable after one

month is not included in the other expenses.

Machinery is purchased @ ¥ 60,000 and payment is

to be made in Septémber.

A dividend on investments of ¥ 10,250 to be received

in November.

The company has 10% Debentures of ¥ 1,00,000. The

interest is payable quarterly in March, June, September

and December.

In case of deficit in cash in any month, the company

can arrange an overdraft from the bank for that month

and such overdraft is to be repaid as early as possibl
e

out of the surplus cash of the subsequent month, Ignor
. e

the interest on the overdraft.

1S
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frefafas go & SR W 31 &R, 2013 9
Ta BN T @R wEH & faU T dw (Jwe)
WWW:

@ 9@ M =W F TEIHH

LR famt | wa | woEd| a=w wd
3 4 4 z
RlH 60000 | 40,000 -| 8000 9,000
Su 90,000 | 60000 | 10,500 8,850
Taawsr 75000 | 50,000 17,500 8,000
HHESIT | 90000 | 60,000 | 17,100 7,850
RELE 1,05000 | 70,000 12,000 7,300
feamr 120,000 80,000 12,000 7,050

@ 1 faaR | Jws (Bw) AW T 47,000

@ T I=fic ¥ fF famt w1 osov% Aw § O
I 25% @lE IWR | SR

@ T W oWR IR fawr w1 o7s% 999
TR R F QA R W 200 aGgS G AT
W S @ (gw T |

©) W@ﬁ?\’mm%@q—tﬂ—}.%aﬁw
mm%aﬂ?@rﬂw%aﬁrwaﬁ
R 1

¢ 19 ) 7012

© T F AR BT G atE @) wwmh
yEm e %)

7 = @@= H R 2 2,000 B OqewEE i
?

®) Wﬂﬁﬁﬁméﬁaﬁrﬁﬁq?@s%m
s wd # wie T %

© HR 7 60,000 H TS TE § SR ypraE Ry
4 fea s |

(10) % 10,250 & A9 W WY TIX T YT BN

(D) FH & 9" T 1,00,000 F 10% fesww T =7
Y o, <, faeR SR RemR § 9 ¥

12) fogt 7 & o6t &1 FH F TR F, HEA
T T B fory % 3 T AT F
F Fhdl ¥ IR W We F ARIE F a1
F TR @ R TEe A faam S @
Tk FHET S AU SIeRgIR WSS @)
Qe FHifw
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Or/(37FA)

(@) Define and explain reSponsibili{)f accounting. What are pre-
requisites for introducing responsibility accounting in a
: compahy ? 6
(b) ‘Write notes on any three of the following : 9
@ Transfer Pricing;
(i) Ze;o Base Budgeting;
(@ii) Profit Centre and Cost Centre;

(iv) Non-cost Factors for taking Make or Buy

Decisions.

() TR A ﬁqﬁwﬁﬁaﬁﬁqq—qm
| whifsTT | ﬁ%ﬁmﬁﬁﬁwﬁk—q’ﬁ@mg{a
F0 # fau qd-emevawad w0 ¥ 2
(@) frfafes § @ 5= d7 = ool fafau -

() T A

() Y UG oA

(@) WY HE T A D

) T W EE frolr 4 @ fau kearm

7012 I |

2 6,000
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. (@)  “Advertising is defineq as paid forp of
n

(b

(31)

~ by an identified spongor »

(2
presentation and Promotion of ideas g0od
s S

8
What is Advertising Budget ? Djscygg the varioyg yy, thod
ethods

of setting an effective advertising budget, 146
..mﬁm_wmmammm
RN g foramy, AR A Jeyra 1 g
AT OYF B owy ARIE forar
%l"waﬁﬁﬁE":f"“’Wa‘%w'ﬁs'?’"q—qEsr
ARG qf W o = i

(%) foqmt ase w1 & 2w g e

((l)

(b)
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Or/(3Tera)

‘ ) ication
Discuss the elements of the marketing commun
8
process.

. asurillg
: . ST IR used in me
Discuss various Post-testing techniques ’

effectiveness of advertising.

. Wl
(\w)ﬁmmmaﬁmﬁ'ﬁﬁﬁﬁ
() o ) woerefierer 1 A A

. gy fad™
M e i S A
Fifsrm |

(a)

(b)

(31)

()

7018

the various message formats using suitable
merate

Enu
8

examp les.

dvertising changing social and cultural values related
[s adve

nsumption pattern of the Indian consumers ? Justify
to co

your statement in the context of increasing consumption

of fast food and junk food. 7

STIR WECH F ITAT FG g A= Wy
WES F gReE i )
G AR SudieRel @ i ded 9

wmwmaﬁrmwﬁm

(a)

(&)

m%?mﬁgaﬂiw‘ﬁg%mmw
F oHed A AN wHo ) St 3y

The pr, i
Preparation anq Production of 5 €opy is the main part

of advertisi
B . .
& Ccampaigp, Discuss the elements in a print

8
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Mmeg
Sage Strategy toucheg both the rational -

an i
0o

huma i
— ' psyche, Give your

7
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(@) Explain any two of the following terms :
() Media Planning
(if) Media Selection
(iii) Media Scheduling.

: . ig giving a0
(b)  “Interactive media and expansion of internet 1S &

extended dimension to advertising.

fits
. . the bene
In the light of the above statement, aisees 1

of advertising on the internet. :
(1) ﬁ%@aﬁ@ﬁ%a“ﬁﬁwﬂm
() e freem
—(iz) Hifew =@
iy e foggfem!

( 5 ) 7018

(w) “gufra WfEA AR T w1 fawmw fawmmd
F wH fawRa @M < w ¥
SR FAT H AEF ¥ SR W famr
Rl i B -

Or/(3T4)
(@) Define reach, frequency, gross rating points and cost per
thousands as the terms of media use. 8
)

What is meant by clutter in media ? What are the ways

Vertisers might deal with the Increasing amount of clutter

found op television 2

(@ pj
SCusg he or:
®» o “Titeria for selection of advertising agency. 8
lSCuSS the
1
mention . 82l framework of advertising in India and
(S}
(37) ﬁw ‘l'ole of ASCI in self-regulation. 7
B i
Fifrg T F A W i

P.T.O



¢ 6) - 1018

€) mﬁfamwa‘)wﬁaﬁﬁﬁéww

()

)
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1

| Or/(37TA)
Discuss various types of advertising agency. What are

the major functions of an advertising agency ? 8

Ethical and legal aspects of advertising in India are the
most debatable topics in the modern context when many
transitions are going on for using sensual and social appeal
in advertising fo} various products. Discuss the impact

7
of sensual and social appeal on Adolescents.

(a)ﬁwqﬁﬁaﬁﬁqﬁmwﬁﬁﬁaﬂﬁm'

@ﬁwnﬁ‘@faﬁﬂ@ww%?

() Wﬁﬁmﬁaﬁmaﬂtmmww

@aﬁﬁﬁwm@ﬁw%wf‘aﬁﬁ@

S AL

(-7 ) 7018
5. Write short notes on any three of the following : 15
(a) Surrogate Advertising
(b)  Types of Pre-tests for evaluating advertising effectiveness
() Advertising Layout
(@  Agency-Client relationship
(60 DAGMAR Model.

e § ¥ fr e o ffeg
) T (afrgen)  formr

(@) foaqrey

K TR & SJeier & for qo-wdrami

7018
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